Living Science
Class 8 Science
Chapter 1 - Crop Production
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Question 1:

Agriculture deals with plants and not with animals. Do you agree? Give reasons.

ANSWER:Agriculture can be defined as the science of rearing animals and growing
crops to meet the demands of humans. The concept of agriculture utilises different
methods to improve the overall yield of the crops. Moreover, agriculture also focuses on
improving the quality as well as quantity of animal products by following scientific
procedures. Thus, the given statement is incorrect.

Question 2:Name three crops that are classified as cereals and three that are classified
as pulses.

ANSWER:Typical examples of cereals include paddy, wheat and maize. Some of the
examples of pulses include peas, gram and beans.

Question 3:If a crop is sown in June and harvested in October, what will it be classified
as—rabi or kharif ?

ANSWER:A crop that is sown in June and harvested in October will be classified as a
kharif crop.

Question 4:lt is necessary to loosen the soil by ploughing before sowing seeds. Why is it
necessary to level the soil after ploughing?

ANSWER:After ploughing, the soil may still contain large lumps of soil. These lumps of
soil are crushed through the process of levelling. Moreover, levelling also reduces the
chances of soil erosion.

Question 5: Seeds are often grown in nurseries and then transplanted to the fields. What
is the advantage of this?

ANSWER:Some crop plants such as tomatoes, rice and onion are planted into seed beds
called nurseries. These plants are allowed to develop into seedlings, which are then
transplanted to the field. This allows farmers to select healthy seedlings; thereby,
increasing crop production.
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Question 1:Which of these are organic substances—manures or fertilizers?

ANSWER:Manures are considered as organic substances because they are derived from
the decomposition of dead animals and plants. Fertilizers, on the other hand, are
inorganic substances derived from chemicals.



Question 2:Drip irrigation saves wastage of water because it supplies water directly to
the roots. Why is drip irrigation not used by all farmers?

ANSWER:Drip irrigation is used to supply water directly near the roots of the plants
through a pipe. This process is extremely beneficial in areas of water shortage. However,
this process is very expensive and thus, most of the farmers do not use drip irrigation.

Question 3:Some fruits such as grapes are not peeled before eating. You are advised to
be extra careful in cleaning such fruits. Why?

ANSWER:Fruits and vegetables are generally grown with the help of chemical pesticides,
which are extremely harmful for human health. In case of fruits that are not peeled, a
coating of pesticide may still even remain after through washing. It is therefore advised
that such fruits should be carefully cleaned.

Question 4:After harvesting his bountiful crop, a farmer was so happy that he forgot to
dry the crop before storing it. What problems can he face?

ANSWER:The drying of crops is essential to prevent the growth of microbes. The farmer
in the given case, has not dried the crop and thus, his crops will have high amount of
moisture. This high moisture will lead to the growth of microbes and consequently, food
grains will be spoilt during storage.
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Question 1:A farmer has two varieties of wheat in his field-one gives good yield but is
prone to diseases; the other is resistant to diseases but does not give good yield. How
can you help him as an agriculture scientist?

ANSWER:In the given case, two varieties of wheat are available. One of the variety of
wheat is prone to diseases but gives a good yield. Another variety of wheat is disease
resistant but provides a good yield. As an agriculture scientist, one could recommend that
the two varieties should be hybridised to obtain a hybrid. This hybrid would have disease
resistance and will provide high yield.

Question 2:Which one of these add nitrogen in usable form to the soil-nitrifying bacteria
or denitrifying bacteria?

ANSWER:Nitrifying bacteria convert ammonia into nitrate compounds, which are readily
utilised by the plants. Denitrifying bacteria, on the other hand, convert nitrates into free
nitrogen, which cannot be used by the plants. Thus, nitrifying bacteria add nitrogen in
usable form to the soil.

Question 3:If you are a pisciculturist, what do you do?

ANSWER:A pisciculturist is involved in the large scale production and rearing of fishes.
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Question 4:If you say that a certain process 'fixes nitrogen' what does this mean? Which
natural process in the atmosphere fixes nitrogen?



ANSWER:Nitrogen fixation is the process in which atmospheric nitrogen (gaseous
nitrogen) is converted into nitrogen compounds. These nitrogen compounds are then
utilised by the living organisms. In atmosphere, lightening generates high temperatures,
which leads to the reaction of oxygen and nitrogen to produce nitrogen oxides. This
process is responsible for natural fixation of nitrogen.
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Question 1:Which of these is not a cereal?
(a) maize
(b) gram
(c) wheat
(d) rice

ANSWER:(b) gram

Cereals, such as maize, wheat and rice, are tall grasses that are cultivated for grains.
Gram is a pulse.
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Question 2:Which of these is not a kharif crop?
(a) wheat
(b) rice
(c) maize

(d) groundnut
ANSWER:(a) wheat

Wheat is a rabi crop and is grown during the winter season (October to December).

Question 3:Which of these nutrients is compost rich in?
(a) organic nutrients

(b) nitrogen

(c) phosphorus

(d) potassium

ANSWER:(a) organic nutrients

Compost is made up of decomposed organic materials like dead plants and animal waste
but it lacks nitrogen, phosphorous and potassium.

Question 4:Which of these is not a fungal disease of plants?
(a) wilt

(b) rust

(c) smut

(d) blight (of potatoes)

ANSWER:(a) wilt
Wilt is caused by bacterium. The bacterium grows in the xylem tissue of plants and blocks

it. Thus, the xylem tissue becomes unable to transport water upwards and the plant wilts,
eventually dying up.



Question 5:Which one of the following is not true about ploughing?
(a) It loosens the soil.

(b) It aerates the soil.

(c) It prevents soil erosion.

(d) It allows easy penetration of roots into the soil.

ANSWER:(c) It prevents soil erosion.

Ploughing refers to the loosening of the soil, which increases soil erosion. Loose soil can
be easily washed off by water or carried away by wind.

Question 6:Compost lacks which of the following nutrients?
(a) nitrogen

(b) phosphorous

(c) potassium

(d) all of these

ANSWER:(d) all of these

Compost is made up of decomposed organic material. It is rich in organic nutrients but
lacks nitrogen, phosphorous and potassium.

Question 7:Which one of the following does not add nutrients to the soil?
(a) crop rotation

(b) field fallow

(c) manures

(d) ploughing

ANSWER:(d) ploughing

Ploughing is a method to loosen the soil. It brings the soil that is rich in nutrients to the top
from layers below, but does not add any nutrients to the soil.

Question 8:Which of the following machines can be used to harvest a crop and also to
beat out the grain from the chaff?

(a) harvester

(b) combine

(c) thresher

(d) harrow

ANSWER:(b) combine

Combine is a farm machine that is used for harvesting and threshing.
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Question 1:About how many years ago did agriculture begin?

ANSWER:Agriculture began about 10,000 years ago.



Question 2:Large grasses cultivated for their nutritious seeds are called
ANSWER:Large grasses cultivated for their nutritious seeds are called cereals.
Question 3:Preparation of the soil involves and it.
ANSWER:Preparation of the soil involves loosening and turning it.

Question 4:The agricultural implement used to sow seeds is called a seed
ANSWER:The agricultural implement used to sow seeds is called a seed drill.

Question 5:Allowing a field to remain free of crops for one or more seasons is called field
It allows the field to regain

ANSWER:Allowing a field to remain free of crops for one or more seasons is called
field fallow. It allows the field to regain nutrients.

Question 6:All crops require approximately the same amount of water at roughly the
same time periods of their growth. True or false?

ANSWER:False. All crops require different amounts of water. For example, a paddy field
needs more water compared to a wheat field.

Question 7:Name one pesticide you will use to kill insects that harm crops.
ANSWER:Malathion is a pesticide that is used to kill insects that harm crops.

Question 8:Pesticides are used to kill small pests, but they are not strong enough to
harm humans. True or false?

ANSWER:False. Pesticides are harmful to our health. Fruits and vegetables must be
washed before eating because they may be coated with pesticides.

Question 9:Name the nitrogen fixing bacteria in root nodules of leguminous plants.

ANSWER:Rhizobium is a nitrogen fixing bacterium that is found in the root nodules of
leguminous plants.

Question 10:Conversion of proteins into ammonia is called

ANSWER:Conversion of proteins into ammonia is called ammonification.

Question 11:Some bacteria can convert nitrate salts in the soil to free nitrogen. True or
false?

ANSWER:True. Some bacteria can convert nitrates present in the soil into free nitrogen
by the process known as denitrification.

Question 12:A milch animal is one that yields

ANSWER:A milch animal is the one that yields milk.

Question 13:Rearing honeybees for honey is called

ANSWER:Rearing honeybees for honey is called apiculture.
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Question 1:Name three natural methods of adding nutrients to sail.

ANSWER:The three natural methods of adding nutrients to soil are:

« Field fallow
« Crop rotation
« Mixed cropping

Question 2:What are weeds?

ANSWER:The unwanted plants that grow along with the crops are called weeds. Weeds
decrease the crop yield as they compete with crops for water, nutrients and sunlight and
limit their growth.

Question 3:Why should grains be dried before storage?

ANSWER:Grains should be dried before storage because they contain moisture. This
excess moisture promotes microbial growth that may destroy the grains.
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Question 4:Why does the government usually maintain a buffer stock of grains?

ANSWER:The government usually maintains a buffer stock of grains to avoid shortage of
grains that might result from a decrease in the production or a natural disaster.

Question 5:What is hybridisation?

ANSWER:Hybridisation can be defined as a technique to develop new varieties of crops
by cross-breeding two different parental varieties.

Question 6:List the steps involved in the nitrogen cycle.

ANSWER:The steps involved in the nitrogen cycle are as follows:

« Nitrogen fixation

« Nitrogen assimilation
« Ammonification

« Nitrification

« Denitrification

Question 7:

What do you mean by nitrogen fixation?

ANSWER:

Nitrogen fixation is the process of converting free nitrogen gas present in the atmosphere
into nitrogen compounds that can be absorbed by the plants.
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Question 8:What is nitrogen assimilation?

ANSWER:Nitrogen assimilation is the process by which inorganic nitrogen compounds
are converted into organic compounds such as proteins that become a part of living
beings.

Question 9:What enables leguminous plants to fix nitrogen?

ANSWER:The nitrogen-fixing bacterium called Rhizobium that live in the root nodules of
leguminous plants enables them to fix nitrogen.

Question 10:What is animal husbandry?

ANSWER:Animal husbandry is defined as the feeding, breeding, rearing and caring of
domestic animals so as to obtain food and other products from them.
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Question 1:Distinguish between kharif and rabi crops, giving two examples of each.

ANSWER:

Kharif crops Rabi crops
They are sown at the beginning of the south-west They are sown at the beginning of winter i.e. from
monsoon i.e. during June or July. October to December.

They are harvested in September or October after the

They are harvested in March or April.
monsoon season.

Examples: rice, maize Examples: wheat, pea

Question 2:List the steps involved in crop production, in sequential order.

ANSWER:The steps involved in crop production are as follows:

« Preparation of soil

« Seed selection and sowing

« Manuring, irrigation and weeding

« Protection from pests and diseases

« Harvesting, threshing and winnowing
. Storage

Question 3:Why is it important to plant seeds at the correct distances from each other?

ANSWER:Seeds should be planted at a proper distance from each other because if they
are very near to each other, they will compete for water, nutrients and sunlight. If they are
far apart, they will take up a large area, resulting in the wastage of field space.

Question 4:Why do farmers normally use a mixture of manure and fertilizers in their
fields?

ANSWER:Farmers normally use a mixture of manure and fertilizers in their fields to
increase the yield and production of crops. Manure is good for plants as it provides them
with organic nutrients but it lacks some important nutrients like nitrogen, phosphorous and




potassium. So, along with manure, farmers also use fertilizers such as NPK fertilizers that
provide nitrogen, phosphorous and potassium.

Question 5:What method of irrigation will you use if you live in a dry area with shortage
of water? Explain the method.

ANSWER:Dirip irrigation is the method of choice for dry areas which have a shortage of
water.

In this method, water is directed at the roots of plants. Water is allowed to fall drop by
drop from a pipe placed near the roots. Thus, water is used efficiently and wastage is
reduced.

Question 6:What is waterlogging? How does it harm the crops? How can it be
prevented?

ANSWER:Water logging is caused when an excess of water is supplied to the field and it
replaces the air present in the pores of the soil. As a result of this, the air supply to the
roots reduces and in extreme cases, gets totally cut off. This results in the retarded growth
of plants. Water logging can be prevented by supplying just the adequate amount of water
to the field using a proper drainage system.

Question 7:Discuss two methods of weeding in which poisonous chemicals are not used.

ANSWER:The two methods of weeding in which chemicals are not used are:

« Manual method: Weeds are pulled out by hand or uprooted using a trowel or a
harrow.
« Insect method: Insects that feed upon specific weeds are used.

Question 8:Differentiate between insecticides, rodenticides and fungicides. Which of
these are pesticides?

ANSWER:
Insecticides Rodenticides Fungicides
Insecticides are chemicals - . Fungicides are
oy . Rodenticides are chemicals .
used to kill insects like . . chemicals used to
used to kill rodents like rats. :
locusts. destroy fungi.

Insects, rodents and fungi are pests. So insecticides, rodenticides and fungicides are all
pesticides.

Question 9:Discuss with an example how hybridization is used for developing new
varieties of crops with desired characteristics.

ANSWER:Hybridization involves cross-breeding two different varieties of crops to obtain
a new variety with the desired traits.

Example: Two varieties of crops, one with high yield and other with disease resistance,
can be crossbred to obtain a variety that has both the traits, i.e., high yield and disease
resistance.

Question 10:Differentiate between nitrification and denitrification.

ANSWER:



Nitrification Denitrification
It is the process of conversion of ammonia into It is the process of conversion of nitrates into free
nitrates. nitrogen gas.
It is carried out by nitrifying bacteria. It is carried out by denitrifying bacteria.
Page No 20:

Question 1:What are the advantages of ploughing the soil before sowing seeds?

ANSWER:Ploughing the soil before sowing seeds have the following advantages:

Ploughing loosens and mixes the soil. During ploughing, an adequate amount of air
gets trapped in the pores of the loosened soil. Plant roots use this air to breathe.
Plant roots can penetrate deeper in loose soil and thus hold the plant firmly.

Loose soil is good for the growth of earthworms and microbes that provide nutrients
to the soil and help in further loosening it.

During ploughing, the nutrient-rich soil is brought to the top. Thus, plants can absorb
the nutrients more easily.

Loose soil mixes well and uniformly with the added fertilisers.

Question 2:What precautions must be taken while sowing seeds in a field?

ANSWER:While sowing seeds in a field, the following points must be kept in mind:

Seeds of good quality and health should be selected.

Seeds must be planted at the proper depth in the soil.

Water is required for the germination of seeds. Therefore, the soil must have
adequate water in it.

Seeds should be sown at a proper distance from each other. If they are sown very
close, they will compete for water, sunlight and nutrients. If they are sown too far
away, it will result in the wastage of field area.

Question 3:Discuss two natural methods of manuring.

ANSWER:Two natural methods of manuring are:

1. Field fallow: In this method, the land is left free or fallow for one or more seasons.

This allows the land to naturally regain nutrients. Microbes decompose dead plants,
animal waste and other organic material that get collected in the land. Thus, the soil
regains the lost nutrients.

Crop rotation: Different crops require different nutrients. Therefore, farmers plant
different crops each season. This is called crop rotation. It prevents depletion of
nutrients in the soil.

Question 4:Draw a labelled diagram to illustrate the nitrogen cycle.

ANSWER:Nitrogen cycle is a process in which atmospheric nitrogen is fixed, then used
by plants and animals and finally returned to the atmosphere.
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Question 1:Which method, according to you, can lead to maximum increase in crop
produce in our country in future?

(a) increasing land under cultivation

(b) using more manures and fertilisers

(c) less wastage in storage

(d) using better varieties of crop plants

ANSWER:(d) using better varieties of crop plants.

Using better varieties of crop plants will result in increased production. Plant breeding is
the method of choice to develop better varieties that have a higher yield as well as high
resistance to diseases.

Question 2:What do you think are the drawbacks of uneven distribution of seeds in a
field while sowing?

ANSWER:The drawbacks of uneven distribution of seeds in a field, while sowing, are:

(i) If seeds are sown very close to each other, they will compete for water, nutrients and
sunlight.  This will limit their growth.



(i) If they are sown far apart, it will result in the wastage of field area.
(iii) If seeds are not sown at the proper depth and covered by soil, they may be eaten up
by birds.

Question 3:Do you expect to find fully-grown crop plants in a nursery? Why? Why not?

ANSWER:We won't find fully-grown crop plants in a nursery. Nurseries are seed beds in
which the seeds of some crops like rice, tomato, onion, etc. are sown. When these seeds
grow into seedlings, they are transferred to and planted in the fields. Thus, in a nursery,
fully-grown crops are not present, as they are transferred to the fields from nurseries in
their seedling stage.

Question 4:Crop rotation is practised by farmers so that they have different products to
sell in the market in every season. Do you agree? Give reasons.

ANSWER:No, farmers do not adopt crop rotation to sell different products in the market
every season. They adopt crop rotation to maintain the balance of nutrients in the soil.
Different crops require different nutrients. Some crops may require more of some
particular nutrients and less of others. Therefore, farmers plant different crops each
season to prevent the depletion of nutrients in the soil.

Example: Wheat absorbs nitrogen present in the soil. The amount of nitrogen can be
naturally replenished if farmers grow legume crops the subsequent season. The nitrogen-
fixing bacterium Rhizobium, present in the root nodules of leguminous plants, helps in
fixing atmospheric nitrogen. Thus, the soil is prepared for planting wheat the following
season.
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Question 5:1 have grown a few wheat plants in my garden because | like the plants. Am |
growing a wheat crop? Give reasons.

ANSWER:No. Growing a few plants in a garden is not crop production. Crop production
is growing wheat in a field on a large scale to cultivate grains.

Question 6:1t is observed that melon fruits growing in the fields sometimes crack,
exposing the contents inside. What do you think can be the reason? (HINT: This generally
happens in fields without proper drainage.)

ANSWER:Melons growing in waterlogged fields with poor drainage tend to absorb more
water than they require. Melons cannot hold this excess water, therefore, they crack.
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Question 1:An experiment was conducted to study the effect of a new fertilizer on the
growth of two varieties of wheat. The data for growth of the plants from germination to
next 10 days is shown in the figure.



All other growing conditions such as water and sunlight were kept the same for both the
varieties.

Which of the following is the most reasonable conclusion you can draw from the data?
1. The new fertilizer causes faster growth in both varieties than other fertilizers.

2. The new fertilizer causes faster growth in both varieties in the first ten days only.

3. The new fertilizer influences the growth of both varieties.

4. The new fertilizer causes faster growth in variety B than in Variety A.

ANSWER:Lets consider the first graph showing the effect of fertiliser on growth of variety
A and first graph showing the effect of fertiliser on growth of variety B.

From the above graph we can see that, the new fertiliser causes faster growth in variety B
than in variety A.
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Question 1:Mohan and Sohan are farmers in Rajasthan, where there is shortage of
water. Mohan waters his crops through irrigation channels connected to a tube well.
Sohan uses drip irrigation. Which of them shows greater concern for the environment?

ANSWER:Sohan shows greater concern for the environment by using drip irrigation for
watering his crops. Drip irrigation allows water to fall drop by drop near the roots of the
plants and thus reduce the wastage of water. However, use of irrigation channels for
watering the crops leads to a lot of wastage of water.
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Give reasons why conservation is important?

Ans- Conservation of resources is important because the number of people on earth is
increasing every day, and their demands on resources are increasing too. Our natural resources
are limited and we are using up the resources faster than the rate of renewal. If we continue in
the same way, soon our resources will be completely depleted. Therefore , conservation is
important.

Give reasons why continuous resources could be potential resources?

Ans- potential resources are those that are known to exist but they have not been used as yet.
Waterfalls , wind, and solar energy are potential resources in india and africa.

Based on their availability , natural resources can be continuous. These
resources are always available and do not rely on human action. Solar energy and Tidal energy
are examples of continuous resources.

What are Natural resources?
Ans- Resources which occur naturally without the help of human interference are called natural
resources.
Why is Human Resources important ?
Ans- Human resources are the most important as they have the skill and the knowledge to
utilise the resources.
What is a potential resources ?
Ans- please refer Q.2
What is a reserve ?
Ans- Subset of stock which can be put into use with the help of existing technology , but its use
has been postponed for future is called reserve.
Example : forests are reserves which can be used in future.
List five ways that can help conserve our resources?
--- Try yourself
What is conservation ?
Ans- refer textbook page 15.
How many type of resources are there?
Ans- on the basis of origin:
Biotic &
Abiotic

On the basis of exhaustibility :

Renewable resources &



Non -renewable resources

10. What do understand by sustainable development ?

11.

12.

Ans- Sustainable development is the effective use of natural resources in such a way that the

resources are sufficient for the present as well as for the future.

Why are natural resources not evenly distributed in the world?

Ans — Natural resources are unevenly distributed . This is because of the different landforms as
well as different climates all over the world. Also the number of people living at any place and
their dependence on natural resources vary. The quantum of resources also changes over time.

How do Human affect natural resources?

Ans — please Try yourself

A. Choose the correct answer : (answers )

1.

(c) 2.(a)3. Botha&b 4.(a) 5.(b) 6. (a)

B. Fillin the blank : (answers)

1.

oA WN

Resource

Natural

Depleting

Abiotic resource

Potential resource/ Reserve

C. Compare and contrast .

Please read the text and solve it.

Subject Teacher
- Norbert Jamatia



Class VIIl. Ch 1: Determiners

EX 1 = Fill in the blanks with a, an or the where necessary;

1) Andaman and Nicobar Island is a union territory in the Bay of Bengal with x Port Blair is

the capital.

2) We were not in a hurry. So we went to an Industrial state in the Eastern part of the city to

see how _x paper is made from x wood pulp.

3) x Ludhiana is an important industrial City for stop it is the Manchester of our country.
4) x Stray animals have become a big nuisance on the city roads.
5) An insect have six legs, but a spider has eight. Therefore we cannot describe a spider as

an insect.

6) The Vasant junk youth club is organising a talent show towards the end of x November.

The fun collected by the club will be spend on providing x medical facilities for the victims
of the recent earthquake in x Gujarat.

7) The moon was shining in all its glory. There was not a single cloud in the sky. The

reflection of the moon in the calm water of the lake looked beautiful. We have really seen
such a beautiful sight.

Ex-2. Rewrite the following passages inserting a, an, the where necessary;

. She is an officer in a local branch of State Bank of India. Her brother is an associate

professor in one of the universities in North India.

It is not easy to become a Newton or an Einstein but all of us can develop the scientific
attitude necessary for progress.

The principal called a meeting of the staff to discuss the data sheet for stop they could
not arrive at a unanimous decision in the meeting.

| am writing to complain about a stereo that | bought from your shop on the 5" of July.
Although the guarantee card says the piece has been inspected and tested in your
factory, the rewind and fast forward control doesn’t appear to be functioning. Could you
send a mechanic at an early day to carry out the necessary repairs?

Ex 7-fill in the blanks with some or any: (only answer)

JegsLel2

some
any
any
any
any, some
any
any



8) some
Ex 10- Fill in the blanks with what, which, whose, how many or how much...(only answer)

Whose
Which
Which
Whose
How many
How much
What
Which

N RLN =

M.L
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phenomena such as eclipses and
s are call d muyths

through stories These storie :
Since the beginning of tme, people Iive seen the Sun s
Thus, they take the Sun and its novement for pranted, w

g in the cas! and seting mn the
or doubt

i auy question
WL ithiout any queslac

Accept all relevant responses.
In old days. the means of entertainme it for the people were

Television. radio. newspapers or the 1 nemet. S0, storics became very imporiant
of entertainment. Stories were used t¢ explain things, 10 wach moral lessons or
the heroic deeds of people. Different vrms of story-telling came into bemng to catet to the

needs of the people.

very few. There were i
a% o medivm

1o talk aboul

Accept all relevant responses.
Stories were generelly spread by the vord of mouth, Wandering singers, known as buards.
used to travel from village to village, spreading these stonics.
defining a myth 3, why there are myths abou solar eclipses
why humans need myths 1. examples of solar eclipse myihs

. disruption 1, stunned 5. dependuble 7. complex
origing 4. commoion b, exXoggeraling 8. Rational

: re:__r,l.ll.':il"lt}'. regularly 1, witness wilnessing 5, immorial, immorialize
regarding, regard 4, influencad, influencing

Muyths are stories that are passed on £am agneralion.

The Vikings felt there was an eclipse vhenever g pair of wolves chased the sun or the moon.

The Chinese Emperor punished the tw o astronomers because they failed o predict an

celipse,
The Chinese created a commotion durmg an eclipse because they wanted to frishien away

the invisible dragon,
Vishnu sliced off Rahu's head before he amrit could slide down the latter’s throat.

The Butanumaliba people’s explanatior of an eclipse was different as they see it as 2 time 10

resolve feuds and come together,
The armies of Lydia and Medes decla ed peace when there was a solar eclipse
Myths arc ver ol stories that have been passed down from generation 1o gt;l_w{"ltiuu

People saw something happening to 1l ¢ sun that'which frightened them
Vhen + ild dogs ate the sun, there wa. an cclipse.
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	Living Science
	Class 8 Science
	Chapter 1 - Crop Production
	Page No 8:
	Question 1:
	ANSWER:Agriculture can be defined as the science of rearing animals and growing crops to meet the demands of humans. The concept of agriculture utilises different methods to improve the overall yield of the crops. Moreover, agriculture also focuses on...
	Question 2:Name three crops that are classified as cereals and three that are classified as pulses.
	ANSWER:Typical examples of cereals include paddy, wheat and maize. Some of the examples of pulses include peas, gram and beans.
	Question 3:If a crop is sown in June and harvested in October, what will it be classified as−rabi or kharif ?
	ANSWER:A crop that is sown in June and harvested in October will be classified as a kharif crop.
	Question 4:It is necessary to loosen the soil by ploughing before sowing seeds. Why is it necessary to level the soil after ploughing?
	ANSWER:After ploughing, the soil may still contain large lumps of soil. These lumps of soil are crushed through the process of levelling. Moreover, levelling also reduces the chances of soil erosion.
	Question 5: Seeds are often grown in nurseries and then transplanted to the fields. What is the advantage of this?
	ANSWER:Some crop plants such as tomatoes, rice and onion are planted into seed beds called nurseries. These plants are allowed to develop into seedlings, which are then transplanted to the field. This allows farmers to select healthy seedlings; thereb...
	Page No 14:
	Question 1:Which of these are organic substances−manures or fertilizers?
	ANSWER:Manures are considered as organic substances because they are derived from the decomposition of dead animals and plants. Fertilizers, on the other hand, are inorganic substances derived from chemicals.
	Question 2:Drip irrigation saves wastage of water because it supplies water directly to the roots. Why is drip irrigation not used by all farmers?
	ANSWER:Drip irrigation is used to supply water directly near the roots of the plants through a pipe. This process is extremely beneficial in areas of water shortage. However, this process is very expensive and thus, most of the farmers do not use drip...
	Question 3:Some fruits such as grapes are not peeled before eating. You are advised to be extra careful in cleaning such fruits. Why?
	ANSWER:Fruits and vegetables are generally grown with the help of chemical pesticides, which are extremely harmful for human health. In case of fruits that are not peeled, a coating of pesticide may still even remain after through washing. It is there...
	Question 4:After harvesting his bountiful crop, a farmer was so happy that he forgot to dry the crop before storing it. What problems can he face?
	ANSWER:The drying of crops is essential to prevent the growth of microbes. The farmer in the given case, has not dried the crop and thus, his crops will have high amount of moisture. This high moisture will lead to the growth of microbes and consequen...
	Page No 17:
	Question 1:A farmer has two varieties of wheat in his field−one gives good yield but is prone to diseases; the other is resistant to diseases but does not give good yield. How can you help him as an agriculture scientist?
	ANSWER:In the given case, two varieties of wheat are available. One of the variety of wheat is prone to diseases but gives a good yield. Another variety of wheat is disease resistant but provides a good yield. As an agriculture scientist, one could re...
	Question 2:Which one of these add nitrogen in usable form to the soil−nitrifying bacteria or denitrifying bacteria?
	ANSWER:Nitrifying bacteria convert ammonia into nitrate compounds, which are readily utilised by the plants. Denitrifying bacteria, on the other hand, convert nitrates into free nitrogen, which cannot be used by the plants. Thus, nitrifying bacteria a...
	Question 3:If you are a pisciculturist, what do you do?
	ANSWER:A pisciculturist is involved in the large scale production and rearing of fishes.
	Page No 17: (1)
	Question 4:If you say that a certain process 'fixes nitrogen' what does this mean? Which natural process in the atmosphere fixes nitrogen?
	ANSWER:Nitrogen fixation is the process in which atmospheric nitrogen (gaseous nitrogen) is converted into nitrogen compounds. These nitrogen compounds are then utilised by the living organisms. In atmosphere, lightening generates high temperatures, w...
	Question 1:Which of these is not a cereal? (a) maize (b) gram (c) wheat (d) rice
	ANSWER:(b) gram  Cereals, such as maize, wheat and rice, are tall grasses that are cultivated for grains. Gram is a pulse.
	Page No 19:
	Question 2:Which of these is not a kharif crop? (a) wheat (b) rice (c) maize (d) groundnut
	ANSWER:(a) wheat  Wheat is a rabi crop and is grown during the winter season (October to December).
	Question 3:Which of these nutrients is compost rich in? (a) organic nutrients (b) nitrogen (c) phosphorus (d) potassium
	ANSWER:(a) organic nutrients  Compost is made up of decomposed organic materials like dead plants and animal waste but it lacks nitrogen, phosphorous and potassium.
	Question 4:Which of these is not a fungal disease of plants? (a) wilt (b) rust (c) smut (d) blight (of potatoes)
	ANSWER:(a) wilt  Wilt is caused by bacterium. The bacterium grows in the xylem tissue of plants and blocks it. Thus, the xylem tissue becomes unable to transport water upwards and the plant wilts, eventually dying up.
	Question 5:Which one of the following is not true about ploughing? (a) It loosens the soil. (b) It aerates the soil. (c) It prevents soil erosion. (d) It allows easy penetration of roots into the soil.
	ANSWER:(c) It prevents soil erosion.  Ploughing refers to the loosening of the soil, which increases soil erosion. Loose soil can be easily washed off by water or carried away by wind.
	Question 6:Compost lacks which of the following nutrients? (a) nitrogen (b) phosphorous (c) potassium (d) all of these
	ANSWER:(d) all of these  Compost is made up of decomposed organic material. It is rich in organic nutrients but lacks nitrogen, phosphorous and potassium.
	Question 7:Which one of the following does not add nutrients to the soil? (a) crop rotation (b) field fallow (c) manures (d) ploughing
	ANSWER:(d) ploughing  Ploughing is a method to loosen the soil. It brings the soil that is rich in nutrients to the top from layers below, but does not add any nutrients to the soil.
	Question 8:Which of the following machines can be used to harvest a crop and also to beat out the grain from the chaff? (a) harvester (b) combine (c) thresher (d) harrow
	ANSWER:(b) combine  Combine is a farm machine that is used for harvesting and threshing.
	Page No 19: (1)
	Question 1:About how many years ago did agriculture begin?
	ANSWER:Agriculture began about 10,000 years ago.
	Question 2:Large grasses cultivated for their nutritious seeds are called ________
	ANSWER:Large grasses cultivated for their nutritious seeds are called cereals.
	Question 3:Preparation of the soil involves _________ and _________ it.
	ANSWER:Preparation of the soil involves loosening and turning it.
	Question 4:The agricultural implement used to sow seeds is called a seed _________
	ANSWER:The agricultural implement used to sow seeds is called a seed drill.
	Question 5:Allowing a field to remain free of crops for one or more seasons is called field _________ It allows the field to regain _________
	ANSWER:Allowing a field to remain free of crops for one or more seasons is called field fallow. It allows the field to regain nutrients.
	Question 6:All crops require approximately the same amount of water at roughly the same time periods of their growth. True or false?
	ANSWER:False. All crops require different amounts of water. For example, a paddy field needs more water compared to a wheat field.
	Question 7:Name one pesticide you will use to kill insects that harm crops.
	ANSWER:Malathion is a pesticide that is used to kill insects that harm crops.
	Question 8:Pesticides are used to kill small pests, but they are not strong enough to harm humans. True or false?
	ANSWER:False. Pesticides are harmful to our health. Fruits and vegetables must be washed before eating because they may be coated with pesticides.
	Question 9:Name the nitrogen fixing bacteria in root nodules of leguminous plants.
	ANSWER:Rhizobium is a nitrogen fixing bacterium that is found in the root nodules of leguminous plants.
	Question 10:Conversion of proteins into ammonia is called _________
	ANSWER:Conversion of proteins into ammonia is called ammonification.
	Question 11:Some bacteria can convert nitrate salts in the soil to free nitrogen. True or false?
	ANSWER:True. Some bacteria can convert nitrates present in the soil into free nitrogen by the process known as denitrification.
	Question 12:A milch animal is one that yields __________
	ANSWER:A milch animal is the one that yields milk.
	Question 13:Rearing honeybees for honey is called __________.
	ANSWER:Rearing honeybees for honey is called apiculture.
	Page No 19: (2)
	Question 1:Name three natural methods of adding nutrients to soil.
	ANSWER:The three natural methods of adding nutrients to soil are:
	Question 2:What are weeds?
	ANSWER:The unwanted plants that grow along with the crops are called weeds. Weeds decrease the crop yield as they compete with crops for water, nutrients and sunlight and limit their growth.
	Question 3:Why should grains be dried before storage?
	ANSWER:Grains should be dried before storage because they contain moisture. This excess moisture promotes microbial growth that may destroy the grains.
	Page No 20:
	Question 4:Why does the government usually maintain a buffer stock of grains?
	ANSWER:The government usually maintains a buffer stock of grains to avoid shortage of grains that might result from a decrease in the production or a natural disaster.
	Question 5:What is hybridisation?
	ANSWER:Hybridisation can be defined as a technique to develop new varieties of crops by cross-breeding two different parental varieties.
	Question 6:List the steps involved in the nitrogen cycle.
	ANSWER:The steps involved in the nitrogen cycle are as follows:
	Question 7:
	ANSWER:
	Page No 20: (1)
	Question 8:What is nitrogen assimilation?
	ANSWER:Nitrogen assimilation is the process by which inorganic nitrogen compounds are converted into organic compounds such as proteins that become a part of living beings.
	Question 9:What enables leguminous plants to fix nitrogen?
	ANSWER:The nitrogen-fixing bacterium called Rhizobium that live in the root nodules of leguminous plants enables them to fix nitrogen.
	Question 10:What is animal husbandry?
	ANSWER:Animal husbandry is defined as the feeding, breeding, rearing and caring of domestic animals so as to obtain food and other products from them.
	Page No 20: (2)
	Question 1:Distinguish between kharif and rabi crops, giving two examples of each.
	ANSWER: (1)
	Question 2:List the steps involved in crop production, in sequential order.
	ANSWER:The steps involved in crop production are as follows:
	ANSWER:Seeds should be planted at a proper distance from each other because if they are very near to each other, they will compete for water, nutrients and sunlight. If they are far apart, they will take up a large area, resulting in the wastage of fi...
	Question 4:Why do farmers normally use a mixture of manure and fertilizers in their fields?
	ANSWER:Farmers normally use a mixture of manure and fertilizers in their fields to increase the yield and production of crops. Manure is good for plants as it provides them with organic nutrients but it lacks some important nutrients like nitrogen, ph...
	Question 5:What method of irrigation will you use if you live in a dry area with shortage of water? Explain the method.
	ANSWER:Drip irrigation is the method of choice for dry areas which have a shortage of water. In this method, water is directed at the roots of plants. Water is allowed to fall drop by drop from a pipe placed near the roots. Thus, water is used efficie...
	Question 6:What is waterlogging? How does it harm the crops? How can it be prevented?
	ANSWER:Water logging is caused when an excess of water is supplied to the field and it replaces the air present in the pores of the soil. As a result of this, the air supply to the roots reduces and in extreme cases, gets totally cut off. This results...
	Question 7:Discuss two methods of weeding in which poisonous chemicals are not used.
	ANSWER:The two methods of weeding in which chemicals are not used are:
	Question 8:Differentiate between insecticides, rodenticides and fungicides. Which of these are pesticides?
	ANSWER: (2)
	Question 9:Discuss with an example how hybridization is used for developing new varieties of crops with desired characteristics.
	ANSWER:Hybridization involves cross-breeding two different varieties of crops to obtain a new variety with the desired traits. Example: Two varieties of crops, one with high yield and other with disease resistance, can be crossbred to obtain a variety...
	Question 10:Differentiate between nitrification and denitrification.
	ANSWER: (3)
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	Question 1:What are the advantages of ploughing the soil before sowing seeds?
	ANSWER:Ploughing the soil before sowing seeds have the following advantages:
	Question 2:What precautions must be taken while sowing seeds in a field?
	ANSWER:While sowing seeds in a field, the following points must be kept in mind:
	Question 3:Discuss two natural methods of manuring.
	ANSWER:Two natural methods of manuring are:
	Question 4:Draw a labelled diagram to illustrate the nitrogen cycle.
	ANSWER:Nitrogen cycle is a process in which atmospheric nitrogen is fixed, then used by plants and animals and finally returned to the atmosphere.
	NITROGEN CYCLE
	Page No 20: (4)
	Question 1:Which method, according to you, can lead to maximum increase in crop produce in our country in future? (a) increasing land under cultivation (b) using more manures and fertilisers (c) less wastage in storage (d) using better varieties of cr...
	ANSWER:(d) using better varieties of crop plants.  Using better varieties of crop plants will result in increased production. Plant breeding is the method of choice to develop better varieties that have a higher yield as well as high resistance to dis...
	Question 2:What do you think are the drawbacks of uneven distribution of seeds in a field while sowing?
	ANSWER:The drawbacks of uneven distribution of seeds in a field, while sowing, are:  (i) If seeds are sown very close to each other, they will compete for water, nutrients and sunlight.     This will limit their growth. (ii) If they are sown far apart...
	Question 3:Do you expect to find fully-grown crop plants in a nursery? Why? Why not?
	ANSWER:We won't find fully-grown crop plants in a nursery. Nurseries are seed beds in which the seeds of some crops like rice, tomato, onion, etc. are sown. When these seeds grow into seedlings, they are transferred to and planted in the fields. Thus,...
	Question 4:Crop rotation is practised by farmers so that they have different products to sell in the market in every season. Do you agree? Give reasons.
	ANSWER:No, farmers do not adopt crop rotation to sell different products in the market every season. They adopt crop rotation to maintain the balance of nutrients in the soil. Different crops require different nutrients. Some crops may require more of...
	Page No 21:
	Question 5:I have grown a few wheat plants in my garden because I like the plants. Am I growing a wheat crop? Give reasons.
	ANSWER:No. Growing a few plants in a garden is not crop production. Crop production is growing wheat in a field on a large scale to cultivate grains.
	Question 6:It is observed that melon fruits growing in the fields sometimes crack, exposing the contents inside. What do you think can be the reason? (HINT: This generally happens in fields without proper drainage.)
	ANSWER:Melons growing in waterlogged fields with poor drainage tend to absorb more water than they require. Melons cannot hold this excess water, therefore, they crack.
	Page No 21: (1)
	Question 1:An experiment was conducted to study the effect of a new fertilizer on the growth of two varieties of wheat. The data for growth of the plants from germination to next 10 days is shown in the figure.     All other growing conditions such as...
	ANSWER:Lets consider the first graph showing the effect of fertiliser on growth of variety A and first graph showing the effect of fertiliser on growth of variety B.  From the above graph we can see that, the new fertiliser causes faster growth in var...
	Page No 21: (2)
	Question 1:Mohan and Sohan are farmers in Rajasthan, where there is shortage of water. Mohan waters his crops through irrigation channels connected to a tube well. Sohan uses drip irrigation. Which of them shows greater concern for the environment?
	ANSWER:Sohan shows greater concern for the environment by using drip irrigation for watering his crops. Drip irrigation allows water to fall drop by drop near the roots of the plants and thus reduce the wastage of water. However, use of irrigation cha...

	Ex 1- Fill in the blanks with a, an or the where necessary;

